

Board of County Commissioners Agenda Request

8A
Agenda Item #

Requested Meeting Date: 11-26-24

Title of Item: Award Contract 20253

DECLILAD ACENDA	Action Requested:		Direction Requested		
REGULAR AGENDA	Approve/Deny Motion		Discussion Item		
CONSENT AGENDA	Adopt Resolution (attach draft)		Information Only		
	Hold Public Hearing *provide co	opy of heari			
Submitted by:		Departm			
John Welle		Highway			
Presenter (Name and Title): John Welle, County Engineer			Estimated Time Needed: 5 minutes		
Summary of Issue:					
replacement on Morrison Township	vember 4, 2024 for Contract No. 20253 w p Road (430th Street) in County Ditch 27. 10,000 local match amount from Morrisor	Constructi			
	t of bids, seven bids were received with M 149.25. With the cost of this contract esti				
Alternatives, Options, Effects	s on Others/Comments:				
Recommended Action/Motion Award Contract 20253 to Marvin To					
7 Ward Contract 20200 to Marvin 1	react, me. by addened recoldion.				
Financial Impact: Is there a cost associated with What is the total cost, with tax a Is this budgeted? Yes	and shipping? \$ 171,149.25		Vo		
\$240,000 was budgeted for this pro	oject in 2025.				

Aitkin County Bid Abstract

Project Name:

Culvert Replacement and Approach Grading on 430th Street in Morrison Township

Bid Opening:

November 4, 2024 at 2:00 PM

Contract No.: 20253

Project No.: SAP 001-599-044

	SAP 001-599-044 - Culvert Replacement and Ap Grading on 430th St in Morrison Twp					Engineer's Estimate		Marvin Tretter INC Pierz, MN		Houle Excavating LLC - Little Falls, MN		Gladen Construction Inc - Laporte, MN	
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	Price	Total	
NON-	PARTICIPAT	TING											
2	2051.501	MAINT AND RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$500.00	\$500.00	\$50.00	\$50.00	
3	2104.503	REMOVE PIPE CULVERTS	LF	54	\$50.00	\$2,700.00	\$20.00	\$1,080.00	\$40.00	\$2,160.00	\$138.89	\$7,500.06	
4	2106.507	EXCAVATION - COMMON (P)	CY	591	\$15.00	\$8,865.00	\$7.00	\$4,137.00	\$6.00	\$3,546.00	\$10.50	\$6,205.50	
5	2106.507	COMMON EMBANKMENT (CV)	CY	448	\$20.00	\$8,960.00	\$8.00	\$3,584.00	\$17.00	\$7,616.00	\$6.80	\$3,046.40	
6	2118.507	AGGREGATE SURFACING (LV), CLASS 5	CY	381	\$30.00	\$11,430.00	\$40.00	\$15,240.00	\$29.00	\$11,049.00	\$43.40	\$16,535.40	
14	2573.503	SILT FENCE, TYPE HI	LF	1,068	\$5.00	\$5,340.00	\$4.00	\$4,272.00	\$4.00	\$4,272.00	\$4.00	\$4,272.00	
15	2573.503	FLOTATION SILT CURTAIN TYPE STILL WATER	LF	30	\$25.00	\$750.00	\$20.00	\$600.00	\$20.00	\$600.00	\$19.95	\$598.50	
16	2575.501	L TURF ESTABLISHMENT	LS	1	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	
17	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	SY	335	\$10.00	\$3,350.00	\$7.75	\$2,596.25	\$3.00	\$1,005.00	\$7.50	\$2,512.50	
		TOTAL NO	N-PAR	TICIPATING		\$48,395.00		\$33,510.25		\$33,248.00		\$42,720.36	

		SAP 001-599-044 - Culvert Replacement and Approach Grading on 430th St in Morrison Twp			Engineer's Estimate		Marvin Tretter INC Pierz, MN		Houle Excavating LLC - Little Falls, MN		Gladen Construction Inc - Laporte, MN	
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	Price	Total
PARTICIPATING												
1	2021.501	MOBILIZATION	LS	1	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$14,300.00	\$14,300.00
7	2412.502	10X6 PRECAST CONCRETE BOX CULV END SECT	EACH	2	\$20,000.00	\$40,000.00	\$16,500.00	\$33,000.00	\$25,000.00	\$50,000.00	\$13,200.00	\$26,400.00
8	2412.503	10X6 PRECAST CONCRETE BOX CULVERT	LF	58	\$2,000.00	\$116,000.00	\$1,275.00	\$73,950.00	\$1,150.00	\$66,700.00	\$1,420.00	\$82,360.00
9	2451.507	STRUCTURE EXCAVATION CLASS U (P)	CY	657	\$10.00	\$6,570.00	\$7.00	\$4,599.00	\$7.00	\$4,599.00	\$10.89	\$7,154.73
10	2451.507	GRANULAR BACKFILL (LV)	CY	465	\$20.00	\$9,300.00	\$20.00	\$9,300.00	\$19.00	\$8,835.00	\$34.56	\$16,070.40
11	2451.507	COARSE AGGREGATE BEDDING (CV)	CY	46	\$60.00	\$2,760.00	\$45.00	\$2,070.00	\$75.00	\$3,450.00	\$68.00	\$3,128.00
12	2511.507	RANDOM RIPRAP CLASS III	CY	34	\$70.00	\$2,380.00	\$80.00	\$2,720.00	\$85.00	\$2,890.00	\$125.00	\$4,250.00
13	2563.601	TRAFFIC CONTROL	LS	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00
TOTAL PARTICIPATING				\$190,010.00		\$137,639.00		\$149,974.00		\$155,663.13		
TOTALS FOR PROJECT SAP 001-599-044				\$238,405.00		\$171,149.25		\$183,222.00		\$198,383.49		
% OF ESTIMATE FOR PROJECT SAP 001-599-044						-28.21%		-23.15%		-16.79%		

		SAP 001-599-044 - Culvert Replacement and Approach Grading on 430th St in Morrison Twp			Midwest Contracting, LLC - Marshall, MN		KGM Contractors, Inc Angora, MN		a, S & R Reinforcing, Inc Aitkin, MN		J.R. Ferche, Inc Rice, MN	
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	Price	Total
NON-	PARTICIPAT	TING										
2	2051.501	MAINT AND RESTORATION OF HAUL ROADS	LS	1	\$1.00	\$1.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
3	2104.503	REMOVE PIPE CULVERTS	LF	54	\$35.00	\$1,890.00	\$50.00	\$2,700.00	\$28.00	\$1,512.00	\$120.00	\$6,480.00
4	2106.507	EXCAVATION - COMMON (P)	CY	591	\$6.00	\$3,546.00	\$15.00	\$8,865.00	\$15.00	\$8,865.00	\$20.00	\$11,820.00
5	2106.507	COMMON EMBANKMENT (CV)	CY	448	\$6.00	\$2,688.00	\$7.00	\$3,136.00	\$28.50	\$12,768.00	\$36.00	\$16,128.00
6	2118.507	AGGREGATE SURFACING (LV), CLASS 5	CY	381	\$32.00	\$12,192.00	\$48.00	\$18,288.00	\$33.50	\$12,763.50	\$60.00	\$22,860.00
14	2573.503	SILT FENCE, TYPE HI	LF	1,068	\$4.00	\$4,272.00	\$5.00	\$5,340.00	\$3.50	\$3,738.00	\$10.00	\$10,680.00
15	2573.503	FLOTATION SILT CURTAIN TYPE STILL WATER	LF	30	\$20.00	\$600.00	\$36.00	\$1,080.00	\$20.00	\$600.00	\$30.00	\$900.00
16	2575.501	TURF ESTABLISHMENT	LS	1	\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00
17	2575.504	ROLLED EROSION PREVENTION CATEGORY 20	SY	335	\$7.50	\$2,512.50	\$6.00	\$2,010.00	\$3.50	\$1,172.50	\$10.00	\$3,350.00
		TOTAL NO	N-PAR	TICIPATING		\$29,701.50		\$44,619.00		\$45,419.00		\$78,218.00
		SAP 001-599-044 - Culvert Replacement and Approach			Midwest Con	tracting, LLC -	KGM Contracto	rs, Inc Angora,	S & R Reinforci	ng, Inc Aitkin,	J.R. Ferd	he, Inc
		Grading on 430th St in Morrison Twp			Marsh	all, MN	N	1N	P	1N	Rice	, MN
Line	Number	Description	Unit	Quantity	Price	Total	Price	Total	Price	Total	Price	Total
PARTI	CIPATING											
1	2021.501	MOBILIZATION	LS	1	\$15,500.00	\$15,500.00	\$32,000.00	\$32,000.00	\$29,000.00	\$29,000.00	\$92,900.00	\$92,900.00
7	2412.502	10X6 PRECAST CONCRETE BOX CULV END SECT	EACH	2	\$19,750.00	\$39,500.00	\$17,000.00	\$34,000.00	\$16,000.00	\$32,000.00	\$21,500.00	\$43,000.00
8	2412.503	10X6 PRECAST CONCRETE BOX CULVERT	LF	58	\$1,650.00	\$95,700.00	\$1,580.00	\$91,640.00	\$2,481.00	\$143,898.00	\$1,900.00	\$110,200.00
9	2451.507	STRUCTURE EXCAVATION CLASS U (P)	CY	657	\$6.00	\$3,942.00	\$18.00	\$11,826.00	\$15.00	\$9,855.00	\$30.00	\$19,710.00
10	2451.507	GRANULAR BACKFILL (LV)	CY	465	\$27.00	\$12,555.00	\$30.00	\$13,950.00	\$33.50	\$15,577.50	\$30.00	\$13,950.00
11	2451.507	COARSE AGGREGATE BEDDING (CV)	CY	46	\$88.00	\$4,048.00	\$55.00	\$2,530.00	\$54.00	\$2,484.00	\$200.00	\$9,200.00
12	2511.507	RANDOM RIPRAP CLASS III	СҮ	34	\$95.00	\$3,230.00	\$100.00	\$3,400.00	\$100.00	\$3,400.00	\$200.00	\$6,800.00
13	2563.601	TRAFFIC CONTROL	LS	1	\$1,800.00	\$1,800.00	\$2,900.00	\$2,900.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00
		TOT	AL PAR	TICIPATING		\$176,275.00		\$192,246.00		\$238,214.50		\$299,260.00
		TOTALS FOR PROJECT	SAP 0	01-599-044		\$205,976.50		\$236,865.00		\$283,633.50		\$377,478.00
		% OF ESTIMATE FOR PROJECT	SAP 0	01-599-044		-13.60%		-0.65%		18.97%		58.33%

I hereby certify that this is an exact reproduction of bids received.

John Welle Outer 2024.11.06 07:50:50 License No. _24340 Certified By: __ Date: 11-6-24

CERTIFIED COPY OF RESOLUTION OF COUNTY BOARD OF AITKIN COUNTY, MINNESOTA

ADOPTED

November 26, 2024

By Commissioner: xxx

20241126-xxx

Award Contract 20253

WHEREAS, Contract No. 20253 is for construction of SAP 001-599-044, and

WHEREAS, sealed bids were opened for this project at 2:00 p.m. on Monday, November 4, 2024 with a total of seven bids received, and

WHEREAS, Marvin Tretter, Inc. – Pierz, MN - was the lowest responsible bidder in the amount of \$171,149.25.

NOW THEREFORE, BE IT RESOLVED, that Marvin Tretter, Inc. be awarded Contract 20253.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents

Commissioner xxx seconded the adoption of the resolution and it was declared adopted upon the following vote

XXX MEMBERS PRESENT

All Members Voting xxx

STATE OF MINNESOTA) COUNTY OF AITKIN)

I, Jessica Seibert, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the 26th day of November 2024, and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 26th day of November 2024

Jessica Seibert County Administrator